A LGE 2N5400(PNP)

TO-92 Bipolar Transistors

TO-92
1. EMITTER
2. BASE gjg‘:’
3. COLLECTOR . T - F
------ & 4.32
2.92 $%533
MIN | l
t1 >
Features o ‘U‘U‘U_ég
I e
< Switching and amplification in high voltage g ‘/ o
Applications such as telephony gr | W
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< Low current(max. 600mA) :
%+ High voltage(max.130v) 92,03
2.67
f 1.14
208 1.40
MAXIMUM RATINGS (TA=25°C unless otherwise noted) 267
Dimensions in inches and (millimeters)
Symbol Parameter Value Units
Vceo Collector-Base Voltage -130 \%
Vceo Collector-Emitter Voltage -120 \%
VEBo Emitter-Base Voltage -5 \%
Ic Collector Current -Continuous -0.6 A
Pc Collector Power Dissipation 0.625 W
T; Junction Temperature 150 °C
Tstg Storage Temperature -55-150 °C

ELECTRICAL CHARACTERISTICS (Tamb=25°C unless otherwise specified)

Parameter Symbol Test conditions MIN TYP MAX UNIT
Collector-base breakdown voltage V(ericBO Ic=-100pA, 1e=0 -130 Y,
Collector-emitter breakdown voltage V(BRr)CEO lc=-1mA, [z=0 -120 \Y
Emitter-base breakdown voltage V(BR)EBO le= -10pA, 1c=0 -5 \
Collector cut-off current Iceo Vcg=-100V, [g=0 -0.1 MA
Emitter cut-off current leBo Veg=-3V, Ic=0 -0.1 MA

Nee1 Vce=-5 V, Ic=-1ImA 30
DC current gain hee2 Vece=-5 V, Ic=-10mA 40 180
hres Vee=-5V, Ic=-50mA 40
Collector-emitter saturation voltage Veetsa o= -10mA, Is= -ImA 02 v
VcE(sat) Ic= -50mA, Ig= -5mA 05 vV
VBE(sat) Ic=-10mA, lzg=-1mA 1 Vv
Base-emitter saturation voltage
VeE(say lc= -50mA, Ig= -5mA -1 v
Transition frequency fr ]Y‘::gzl\:ha\; lc=-10mA 100 MHz
Collector output capacitance Cob Veg=-10V,lg=0,f=1MHz 6 pF



Administrator
新建图章


A LGE 2N5400(PNP)

TO-92 Bipolar Transistors

Typical Characteristics

1000 i — T
700 | N -
500 Ti=1257C
= R O S "
Z 300 _ N '-—.._‘___-‘
5 el e e e L T J R e e e T S
200 f==m s A —
= P e ™S v
g __..----'""',...--—'-:':='==— 2513 I e B A = —— N
£ 100 E==F—" ] = " =
:. —— A "‘I..___". e
o L — ]|
T 70 L - 550 _'\\\
LU p———r— L ]| ~
E e ] T T
£ 30 —_— Ve =1.0V
20 —————— Ve = 10V
10 IR

0.1 02 03 05 07 10 20 3.0 5070 10 20 30 50 70 100 200 300 500 700 1.0K
lc COLLECTOR CURRENT (mA)

DC Current Gain

77
E 1.0
. T T 1
=
g h T4 =257CH
< 0.8
o \
o]
- \ \
T 06 lc=1.0mA 10mA 150mA 500mA
e \ \
=
E o4 \ \
z i
E \ﬁn..
i
8 o2\ \\ \\ e
= N N -
£ 0005 0.01 002 003 005 0.1 0.2 03 0.5 1.0 20 3.0 50 10 20 30 50
Is, BASE CURRENT (mA)
Collector Saturation Region
10
Ts=251T
LT
1
AU.E! —
w L
L — VeEsa@Io/lE = 10 — 1=
o —
=06 = i
w e
(o]
=
504
S
"'
L
0.2 "
]
1 VcEsa @lc/ls = 10 — =]
Tttt

0
01 020305 1.0 203.0 50 10 20 30 50 100
lc,COLLECTOR CURRENT(mA)

"On" Voltages


Administrator
新建图章


